

OFFICE OF DISTRICT & SESSIONS JUDGE, BATTAGRAM

No. 177

Dated Battagram 02 / 43/2024

To:

The Khyber Pakhtunkhwa Public Procurement Regulatory Authority, 2nd Floor Khyber Pakhtunkhwa Bar Council Building,

Peshawar.

Subject:

UPLOADING OF TENDER NOTICE, CORRIGENDUM AND BOQ ALONGWITH COMPLETE DOCUMENTS OF CONSTRUCTION IN SESSIONS COURT BATTAGRAM.

Respected Sir,

Enclosed find herewith tender notice regarding construction in Sessions Court, Battagram alongwith corrigendum and bidding documents to be uploaded on the website of KPPRA, immediately.

The bill may please be sent to this office at the earliest

Muhammad Arsha District & Sessions Judge,

Battagram



OFFICE OF THE DISTRICT & SESSIONS JUDGE, BATTAGRAM

Ph# 0997-310215 Fax# 0997-311500

Email: <u>dsjbattagram@yahoo.com</u> www.districtcourtsbattagram.gov.pk

CORRIGENDUM.

It is for the information of all the concerns that the tender notice published in various newspapers vide No INF(P)307/24 regarding work plan of ACCESS TO JUSTICE DEVELOPMENT FUND .

- 1 The Following changes/amendment may be considered. This Tender Notice is available on the Website of the KPPRA.
- 2 Bid solicitation documents and instructions to bidders have been uploaded on District Court Battagram Website & KAPPRA website.

All other terms and conditions remain the same,

District & Sessions Judge, Battagram.

BILL OF QUANTITY (BOQ)

GROUND FLOOR

	GROUND FLOOR				
.No	item code/Description	Qty	Unit	Rate	Amount
1	03-25-b Excavation in foundation of building, bridges etc complete : in	962.5	M3	312.82	301074
	ordinary soil 06-05-i Plain Cement Concrete including placing, compacting, finishing &	48.1	M3	9,237.44	444529
1250	curing (Ratio 1:4:8) 06-07-b-03 RCC in raft foundation slab, base slab of column & ret. wall etc,	305.85	M3	14,653.95	4481912
3	not including in 06-06. (1:2:4) 06-07-a-03 RCC in roof slab, beam, column & other structural members,	108.60	мз	14,653.95	1591482
4	insitu or precast. (1:2:4) 06-47-d Erection and removal of Form work with Plywood sheet finishing for		NIS	14,033.73	1051102
5	RCC or Plain cement Concrete in any shape - Position / Vertical	788.57	M2	1,159.44	914305
6	06-08-b Supply & fabricate M.S. reinforcement for cement concrete (Hot rolled deformed bars Grade 60)	40.68	Ton	303,740.00	12356455
7	06-44-b PCC 1:3:6 in mass concrete less formwork using 40% boulders 06-46-b Erection and removal of Form work with Wood Surface Finshing for	114.61	M3	7,839.27	898453
8	RCC or Plain cement Concrete in any shape - Position / Vertical	94.05	M2	710.56	66830
)	07-05-a-03 1st class brick work in ground floor Cement, sand mortar 1:4 12-70-a Supply and Fixing MS Sheet 16 guage(10" x 2") box type chowkats	99.44083	M3	14,439.45	1435871
0	including fixing in position with all charges for Hold fast, Hinges and Painting etc	239.3293	M	1,290.40	308830
1	12-08-c First class deodar wood wrought joinery in doors and windows etc. complete: 1.5" thick	10.32	M2	25,210.22	26016
2	12-17-b-02 First class deodar wood wrought joinery work Deodar wood frame 1" thick with wire guaze with springs	0.650558	M2	11,471.73	7463
3	12-65-e-04 Supply and Fixing aluminium door/window, Swing Door Single Action Premium model (2.00 mm gauge) 4" section	6.51	M2	13,145.04	85516
14	12-65-a-06 Supply and Fixing aluminium door/window, Sliding Window Premium model (2.00 mm gauge) 4" section	34.01	M2	12054.52	410033
5	12-64-d-11 Supply and Fixing aluminium door/window, Fly Screen shutter with separate outer frame Premium model (2.00 mm gauge) Bronz/Black 2" section	17.01	M2	6,555.59	111494
6	12-61 MS flat 1/2"x1/8" grill in windows of approved design	34.01	M2	3,278.91	111532
7	11-10-a Cement plaster 3/8" thick under soffit of RCC roof slabs only upto	139.4527	M2	443.11	61793
	20' height: (1:2)	958.6754	M2	549.27	526572
9	11-09-c Cement plaster 1:4 upto 20' height 3/4" thick 03-18-d Filling, watering and ramming earth under floor with earth excavated from outside lead upto 30m.		M3	423.81	100063
0	from outside lead upto 30m 10-03-a Provide, lay, water & ram 4" thick clean coarse	435.4031	M3	806.95	351349
1	sand under floor / brick paving, complete 06-05-i Plain Cement Concrete including placing, compacting, finishing & curing (Ratio 1:4:8)	43.77207	M3	9,237.44	404342
2	10-26-c-ii Provide & lay marble fine dressed stone flooring on surface in white cement complete: 3/4" thick 12 x 12 Sunny White Marble	5.645911	M2	2,155.74	12171
3	10-45-b-ii Provide & lay marble fine dressed stone dado or skirting in white cement complete: 0.5" thick 12 x 12 Sunny White Marble	62.23	M2	1,834.66	114176
24	10-39-a Glazed tile 1/4" thick dado jointed in white cement complete : White Plain tiles	77,50929	M2	1,773.07	137429
.5	10-47-c Providing and Fixing marble strip 1.5 inch wide 3/8 inch thick for dividing the floor into panels	172.8659	M2	100.75	17416
26	25-45-b Supplying and Fixing 18 SWG MS Sheet Gate with angle iron frame (2"x2"x3/16") with side window, lock, painting etc	11.15	M2	14,026.20	156426
7	11-20-a Priming coat of chalk under distemper	1098.13	M2	34.89	38314
8	11-21-a-02 Distempering New surface : Three coat	1097.51	M2	144.56	158656
9	13-05-a French polishing complete: On new work	55.78	M2	980.88	54713
0	12-24-a-01 Extra for providing/fixing approved quality Rim locks : Imported	15	Nos	2,214.15	33212
1	12-22-c-02 Providing and fixing sliding bolt to doors Brass sliding bolts: 12" long	13	Nos	2,208.46	28710
	25-47 Supply and fixing of fancy type stainless steel chromium plate 2" dia pipes stair railing 3/4" dia				
2	pipe fixed on specified space on steps in horizontal positions, complete in all respects	3.66	M	4,802.78	17566
3	S/F of Aluminium Curtain Railing with Blinder Comp as specified. (NSI)	50.19	M2	6000	301115
4	06-05-f Plain Cement Concrete including placing, compacting, finishing & curing (Ratio 1:2:4)	50.93	М3	12,745.86	649202
5	06-05-h Plain Cement Concrete including placing, compacting, finishing & curing (Ratio 1:3:6)	43.93	М3	10,465.39	459745
6	13-25-a Preparing surface & painting with snowcem / weathershield paint : 03 coat	136.803	M2	243.39	33296
37	13-25-b Preparing surface & painting with snowcem / weathershield paint : 03 coat	136.803	M2	124.83	17077
38	11-31 Provide & fix expanded metal edge bead for corners, with nails on both sides of edges	263.3343	М	136.94	36061
	To an experimental and the second sec	Add Location	Factor	TOTAL 8% except NSI	27495350 2175539
				NET TOTAL	29670889

MUMTY/PARAPET

S.No	item code/Description	qty	Unit	Rate	Amount
1	06-07-a-03 RCC in roof slab, beam, column & other structural members, insitu or precast. (1:2:4)	17.76	М3	14,653.95	260292
2	06-47-d Erection and removal of Form work with Plywood sheet finishing for RCC or Plain cement Concrete in any shape - Position / Vertical	58.31	M2	1,159.44	67603
3	06-08-b Supply & fabricate M.S. reinforcement for cement concrete (Hot rolled deformed bars Grade 60)	0.697	Ton	303,740.00	211828
4	07-05-a-03 1st class brick work in ground floor Cement, sand mortar 1:4	6.53	M3	14,439.45	94322
5	12-65-e-04 Supply and Fixing aluminium door/window, Premium model (Gauge 2 mm) 4" sect. Swing door single action (long handle)	2.60	M2	13,145.04	34206
6	12-65-a-06 Supply and Fixing aluminium door/window,Sliding Window Premium model (2.00 mm gauge) 4" section	6.69	M2	12054.52	80662
7	12-17-b-02 First class deodar wood wrought joinery work Deodar wood frame I" thick with wire guaze with springs	2.60	M2	11,471.73	29852
8	12-64-d-11 Supply and Fixing aluminium door/window, Fly Screen shutter with separate outer frame Premium model (2.00 mm gauge) Bronz/Black 2" section	3.35	M2	6,555.59	21933
9	12-61 MS flat 1/2"x1/8" grill in windows of approved design	6.69	M2	3,278.91	21941
10	11-10-a Cement plaster 3/8" thick under soffit of RCC roof slabs only upto 20' height: (1:2)	118.49	M2	443.11	52506
11	11-09-c Cement plaster 1:4 upto 20' height 3/4" thick	157.9926	M2	549.27	86781
12	11-37-a Providing and fixing Chakwal tiles red colour in 1:3 cement mortar complete.	50.83643	M2	1,640.65	83405
13	11-20-a Priming coat of chalk under distemper	157.9926	M2	34.89	5512
14	11-21-a-03 Distempering New surface : Three coat	157.9926	M2	162.91	25739
15	13-25-a Preparing surface & painting with snowcem / weathershield paint : 03 coat	80.2974	M2	243.39	19544
16	13-25-b Preparing surface & painting with snowcem / weathershield paint : 03 coat	49.34944	M2	124.83	19544
17	09-20-a Cast iron rain water down pipe fixed in position excluding heads & shoes : 4" dia	132	М	2,280.82	301068
18	09-21 Heads for cast iron rain water down pipe fixed in place including cost of clamp holdfast and painting	12	No	1969.87	23638
19	10-22-a 1.5" thick mosaic flooring, including rubbing & polishing complete : Using grey cemen	349.63	M2	2,300.73	804404
					1906690 152535
					2059226 2.059

DEVELOPMENTAL WORK

S.No	Description	QTY	Unit	Rate	Amount
	03-57 Levelling, dressing and making lawns	533.46	M2	42.31	22570.58
2	03-11-a Excavation in shingle or gravel formation & rock not requiring blast, undressed, 50m lead : Dry	348.24	m3	279.93	97484.12
3	(06-05-i) PCC 4" Thick (1:4:8)	36.44	M3	9,237.44	336596.41
4	23-03-a-01 Providing & laying R.C.C. pipe sewers, moulded with cement concrete 1:1-1/2:3 conforming to ASTM specification C-76-79, Class II, Wall B, including carriage, alignment and grade, jointing with rubber ring, lowering in trenches to correct cutting pipes where necessary, testing, etc. complete:- 12" i/d, wall thickness 2".	12.00	М	2,057.57	24690.84
5	23-03-a-03 Providing & laying R.C.C. pipe sewers, moulded with cement concrete 1:1-1/2:3 conforming to ASTM specification C-76-79, Class II, Wall B, including carriage, lowering in trenches to correct alignment and grade, jointing with rubber ring, cutting pipes where necessary, testing, etc. complete:- 18" i/d, wall thickness 2.5".	12.00	М	2,925.98	35111.76
6	23-01-c Providing and laying R.C.C. pipe, moulded with cement concrete 1:1 1/2:3, with spigot, socket or collar joint, etc. including cost of reinforcement, conforming to B.S. 5911: Part-I, 1981 Class "L" including carriage, lowering in trenches to correct alignment and grade, jointing, cutting pipe where necessary, finishing and testing, etc. complete:- dia:9"		М	1,690.78	3381.56
				TOTAL	519835.27
		Add Locati	on Factor	r 8% except NSI_	41586.82
				NET TOTAL	561422.09
				In Mimmions	0.561

BOUNDRY WALL

S.No	Item code Description	QTY	Unit	Rate	Amount
- 8	03-25-b Excavation in foundation of building, bridges etc complete : in ordinary soil	15.86	М3	312.82	4959.77
9	06-05-i Plain Cement Concrete including placing, compacting, finishing & curing (Ratio 1:4:8)	29	M3	9,237.44	60094.87

				NET TOTAL In Mimmions	1366503 1.367
		Add Locatio	n Facto	r 8% except NSI	101222
		96.28		TOTAL	1265281
11	weathershield paint: 2nd & subsequent coats	96.28	M2	124.83	12018.95
	13-25-b Preparing surface & painting with snowcem /	02/07/07/02/02/0	araun		
10	13-25-a Preparing surface & painting with snowcem / weathershield paint: First coat	44.24	M2	243.39	23434.20
9	11-09-b Cement plaster 1:4 upto 20' height 1/2" thic	24.38	M2	406.01	17961.04
	including painting posts etc. Complete in all respects.			1,152.85	
8	25-60-a Supply and fixing razor wire (2'-0" dia) consisting of 1-1/2"X1-1/2"X3/16" angle iron Y post 2'-6" long 6' to 8' center to center embedded in concrete block of size 3"X9"X6" (PCC 1:2:4), at top of boundary wall	0.75	M		28109.72
7	06-05-f Plain Cement Concrete including placing, compacting, finishing & curing (Ratio 1:2:4)	2.68	M3	12,745.86	9526.92
6	07-07-a-04 1st class brick work other than building upto 10 ft. height: Cement, sand mortar 1:5	1.74	M3	13775.49	36856.85
5	06-08-b Supply & fabricate M.S. reinforcement for cement concrete (Hot rolled deformed bars Grade 60)	22.20	Ton	303,740.00	529422.68
4	06-07-a-03 RCC in roof slab, beam, column & other structural members, insitu or precast. (1:2:4)	23.78	M3	14,653.95	325274.54
3	08-01-d-03 Random rubble masonry in foundn. & plinth in cement, sand mortar: Ratio 1:6	6.51	M3	9,150.45	217621.12

INTERNAL WATER SUPPLY

.No	DESCRIPTION	Qty	Unit	Rate	Amount
1	14-03-a Providing and fitting glazed earthenware water closet (WC), squatter type (orisa pattern) combined with foot rest, complete in all respects: White	5	Nos	3,713.81	18569
2	14-01-a Providing and Fixing glazed earthen ware WC European type of approved make/size excluding cost of seat & cover, complete in all respects: White	5	Nos	11,415.02	57075
3	14-78 Providing and Fixing low level plastic flushing cistern 3 gallons (13.63) liters capacity, complete in all respects	8	Nos	3,550.23	28402
4	14-05-a-01 Providing and Fixing glazed earthen ware wash hand basin (WHB) complete size 56x40 cm (22"x16"), including bracket set, waste coupling, complete in all respects: White with pedestal (Best Quality)	7	Nos	9,136.16	63953
5	14-22-a Providing and fixing chromium plated CP stop-cock, heavy type : 2 cm (3/4")	13	Nos	913.77	11879
6	14-27-a Providing and fixing chorimum plated (CP) mixing valve for wash hand basin (WHB), sink or shower of approved (Best) quality	12	Nos	4,357.08	52285
7	14-24-a Providing and fixing chromium plated (CP) bib-cock heavy duty of approved quality: 2 cm 3/4"	10	Nos	1,565.01	15650
8	14-17-a Providing and fixing best quality looking glass 5 mm thick neatly fitted on masonry wall etc. as per instruction of Engineer In-charge complete. Mirror 60 x 45 cm (24"x18") size	5	Nos	2,529.49	12647
9	14-20-c Providing and fixing superior quality plastic towel rail.	5	Nos	475.76	2379
10	14-20-a Providing and fixing plastic soap dish complete.	5	Nos	464.83	2324
11	14-20-d Providing and Fixing superior quality plastic shelf 60 x 13 cm (24"x5") with bracket	5	Nos	859.7	4299
12	14-20-b Providing and fixing superior quality plastic toilet paper holder.	5	Nos	466.04	2330
13	14-31-a Providing and Fixing cast iron floor trap of approved quality including CI grating & concrete chamber all round : 4"x2" (100mm x 50 mm)	10	Nos	822.66	8227
14	14-56-c Providing and Fixing oxidized gas cock : 1/2" dia	8	Nos	435.87	3487
15	14-32-a Providing and Fixing 'P' trap of approved quality including GI grating & PCC chamber 4" (100 mm) of cast iron (Best Quality)	5	Nos	1,623.42	8117
16	14-23 Providing and fixing underground stop-cock 1.5 cm (1/2") with chormium plated (CP) cover of approved quality.	10	Nos	760.53	7605
17	14-69-b-03 Supplying and Fixing Polyethylene Water Tank made from food grade FDA Certified raw material, 3 layers UV stablized, inert with water, anti-fungus and anti-bacterial and have a service life of more than 10 years: 500 gallons (Vertical)	2	Nos	35,230.34	70461
18	24-18-a-02 Providing, laying, cutting, jointing, testing and disinfecting UPVC pressure pipeline in trenches (conforming to BS 3505 manufactured) jointed with socket, elbow, tee, bend and plug bend etc.manufactured by the respective manufacturer complete as per specifications.UPVC Pressure Pipes Class B (6 Bar) 4" Nominal Pipe Size (NPS)	35	М	955.88	33456
19	24-18-a-01 Providing, laying, cutting, jointing, testing and disinfecting UPVC pressure pipeline in trenches (conforming to BS 3505 manufactured) jointed UPVC Pressure Pipes Nominal Pipe Size (NPS)Class B (6 Bar) 3"	35	М	631.65	22108
20	24-18-c-03 Providing, laying, cutting, jointing, testing and disinfecting UPVC pressure pipeline in trenches (conforming to BS 3505 manufactured) jointed uPVC Pressure Pipes Class D (12 Bar) 2"	25	М	458.41	11460
21	24-18-c-08 Providing, laying, cutting, jointing, testing and disinfecting UPVC pressure pipeline in trenches uPVC Pressure Pipes Class D (12 Bar) 6"	22	М	3,115.23	68535
22	14-55-f Providing and Fixing GI pipe & including specials complete:1/2" dia (light)	200	М	625.61	125122
23	14-55-e Providing and Fixing GI pipe & including specials complete: 3/4" dia (light)	140	М	851.1	119154
24	14-55-d Providing and Fixing GI pipe & including specials complete 1" dia (light)	140	М	1,131.09	158353
25	14-55-c Providing and Fixing GI pipe & including specials complete: 1.25"	50	М	1 553 14	77657

26	23-11 Soakage Pit (6'dia x 15' deep) complete	3	Nos	26,151.81	78455
10000	23-10 Septic Tank (int.Size: 7'x2'x5') complete.	6	Nos	28,931.39	173588
28	14-06-b Providing and fixing stainless steel sink with drain board size (90x45 cm) 36"x18" including set of brackets, waste pipe etc (Best Quality)	15	Nos	5,669.60	85044
29	14-56-b Providing and Fixing oxidized gas cock : 3/4" dia	4	Nos	496.62	1986
	14-56-a Providing and Fixing oxidized gas cock : 1" dia	2	Nos	675.22	1350
	Making of Main Hole 18"X18" int Dia i/c Cover (NSI)	10	Nos	5000	50000

Total 1375958

Add Location Factor 8% except NSI NET TOTAL

106077 1482035

In Mimmions

1.482

INTERNAL ELECTRIFICATION

.No	DESCRIPTION	Qty	Unit	Rate	Amount
	(15-52) Wring of light/fan/bell point in 03/029 PVC	40	No	3,127.01	125080
	(15-51) Wiring of 2/3-pin 5-Amp. plug point in 3/0.029"	15	P. No	593.75	8906
3	15-57-a Supply and Erection white flat globe with holder,gallery & 100 W bulb complete : 8" dia	13	No	718.65	9342
4	15-20-b Supply and Erection 3 pin switch & plug combined recessed type :10/15 Amp	12	No	647.28	7767
5	15-75-b Supply and Erection cubical type factory fabricated floor/wall mounting steel main board comp. : Recessed	9	M2	31,132.93	280196
6	15-53 Special earthing of iron/metal clad switches etc with copper wire No. 8 SWG in GI pipe 1/2" dia	2	P.No	18,625.67	37251
7	15-25 Supply and Erection girder clamp hook, 5/8" dia.for hanging ceiling fans	22	P.No	328.95	7237
8	15-68-c Supply and Erection best quality AC ceiling fan complete with Glrod, canopy, blades & regulator : 56" sweep	11	P.No	6,261.75	68879
9	15-67 Making hole in wall with necessary masonry work for exhaust fan any size complete &fancy shed Single.	10	No	224.10	2241
10	15-69-b Supply and Erection best quality exhaust fan complete with shutter & regulator : 16"sweep	7	No	4,802.85	33620
11	15-71-b Supply and Erection single phase imported auto circuit breaker 15 Amp.	8	No	658.80	5270
12	15-71-c Supply and Erection single phase imported auto circuit breaker 20 Amp	15	No	950.40	14256
13	15-61-a Supply and Erection fluorescent tube light fitting including 4'rod, choke, starter, flexible wire etc : Single	25	No	1,789.65	44741
14	15-47-b Wiring of main & sub-main in 2 single core PVC insulated & sheathed cable : 7/0.029"	250	P.M	548.99	137248
15	15-47-c Wiring of main & sub-main in 2 single core PVC insulated & sheathed cable : 7/0.044"	240	P.M	835.44	200506
16	15-02-a-02 Supply and Erection PVC pipe for wiring purpose complete On surface including clamps etc: 3/4" i/d	250	P.M	105.09	26273
17	15-02-a-03 Supply and Erection PVC pipe for wiring purpose complete On surface including clamps etc: 1" i/d	250	P.M	122.16	30540
18	15-22-a Supply and Erection button holder/angle holder Bakelite large size	28	P.No	70.45	1973
19	15-55-a Supply and erection of fancy wall type bracket with brass holder & fancy shade: Single	28	P.No	1,274.76	35693
20	15-70-a Supply and Erection transpower auto circuit breaker 3-phase, 400V fungus moisture proofing : 30 Amp.	2	P.No	1,812.60	3625
21	15-70-b Supply and Erection transpower auto circuit breaker 3-phase, 400V fungus moisture proofing: 60 Amp.	3	P.No	2,055.60	6167
22	15-70-c Supply and Erection transpower auto circuit breaker 3-phase, 400V fungus moisture proofing: 100 Amp.	2	P.No	3,747.15	7494
23	15-198 Supply & Erection of Ding Dong call bell best quality	8	P.No	880.38	7043
24	26-01-c-05 S/F of Led Light 24-W	120	P.No	531.04	63725
25	(15-40-a-01) Supply and Fixing GI tubular street light pole, 8' of 5" dia, 7' 4" dia, 5' of 3" dia, Single arm of 5' of 1.5" dia	4	P.No	20,736.00	82944

	15-35-b Supply and Erection pole mounted street light complete for fitting	5	P.No	4,485.60	22428	
27	125/250 W mercury lamp 15-36-c Supply and Fixing 400 W mercury vapour lamp with choke	6	P.No	5,313.15	31879	
	15-36-i-10 Supply, installation, testing and commissioning of 1x6 Watt LED	3	P.No	6,119.82	18359	
	BULKHEAD light fixture, of best quality.		1	TOTAL	132068	

TOTAL

1320685 105655

Add Location Factor 8% except NSI

NET TOTAL

1426340

In Mimmions =

1.426

GRAND Total

37.467 (M)

NOTE

- All the item will be carried out according to communication and work Department Specification Of Work
- 2 Only percentage Premimum Above/Below on work shall be allowed /Paid
- 3 Any other Items not covered in the BOQ will be paid as Above/Below on MRS 2022 Bi Annual quoted by the bidder.

C&W DIVISION BATTAGRAM

INSTRUCTIONS TO BIDDERS

1- Proposal should accompany the following:
a. Original deposited Bid Security Fee.
b. Enlistment Order of C&W Department (Photocopy).
c. Renewal of Registration for CFY 2023-2024 (Photocopy).
d. National Identity Card (CNIC Photocopy).
e. Valid Pakistan Engineering Council registration copy for current calendar year (CCY).
f. Form H of the Company / Firm.
g. Documents showing general capabilities, financial soundness, general and relevant record, personnel capabilities, equipment capabilities, registration with KPRA and Income Tax / NTN Certificates etc.
h. Any other documents to support the technical bid.
l. Non black list certificate.
2- The contractors quoting their bids up-to a limit of 10% below Engineer Estimate shall submit bid security @ 2% only of Engineer Estimate.
3- The contractors quoting their bids more than 10% below up-to 20% below on Engineer's Estimate shall submit along-with

2- The contractors quoting their bids up-to a limit of 10% below Engineer Estimate shall submit bid security @ 2% only of Engineer Estimate.
3- The contractors quoting their bids more than 10% below up-to 20% below on Engineer's Estimate shall submit along-with their bids 8% Additional Security of Engineer's Estimated cost in addition to 2% bid security. If the bid is not accompanied with the required amount of Additional Security then it will be considered as non-responsive and the 2% bid security shall be forfeited in favour of Government and the second lowest bidder and so on will be considered accordingly. Similarly, a contractor quoting bid more than 20% below shall submit with his bid an additional security on Engineer's Estimated cost equal to the differential amount of submitted bid and Engineer's Estimate along-with detailed rate analysis. In Estimated cost equal to the differential amount of submitted bid and Engineer's Estimate along-with detailed rate analysis and / or required amount of case of more than 20% below bids, if the bid is not accompanied by the detailed rate analysis and / or required amount of additional security, then the said bid shall be considered as non-responsive. All the securities submitted along-with such non-responsive bid shall be forfeited in favour of Government and the 2nd lowest bidder and so on will be considered accordingly, responsive bid shall be forfeited with the bids is, in view of the Procuring Entity, not convincing, the Head of the In case detailed rate analysis submitted with the bids is, in view of the Procuring Entity, not convincing, the Head of the Procuring Entity may declare such bid as non-responsive without any forfeiture of bid securities and record reasons thereof. Procuring entity may declare such bid as non-responsive without any forfeiture of bid securities and record reasons thereof.
6- The procuring entity may offer the contract to next lowest bidder after due diligence in the context of financial difference between

completion of the project.
All such effort to conspire to cartel making shall be considered as violation of Rule - 44 and shall be attributed towards misprocurement under rule - 54 of procurement Rules ibid.
10- Complete bids must reach the concerned offices on or before the fixed date / time.
11- The bidders are required to quote their rates above or below on both MRS as well as on Non MRS items.
12- Time allowed for the completion of the work as specified in the NIE shall start from the issuance of Letter of Acceptance (LOA).

Time allowed for the completion of the contract of the contract of the contract of the period of the contract of the period of the contract of the period of the pid.
 Call Deposit of only scheduled Banks shall be accepted.
 The authority has a right to reject bids or all the bid assigning cogent reasons.
 Bid security of the 1st, 2^{sd} and 3rd bidder for the specific work will be retained by the Department till the approval of the bid.
 All instructions mentioned on work plan Access to Justice Development Fund, 2023 issued by the august Peshawar High Court, Peshawar shall be followed.
 Contract shall be awarded as fixed price on turnkey basis excluding payment to be made to the PESCO/SNGPL.
 The contractor shall be responsible to bear the cost for structural, electrical and plumbing design, soil test and other material tost.

test.

19- Income tax at the rate of 7% shall be deducted from the bill of payment.

20- Payment shall be made as per terms of payment defined in Bid Solicitation documents.

21- Work completion certificate/quality and quantity will be prepared and signed by the committee.

22- Proper agreement shall be signed with the contractor after awarding the contract.

23- Committee may divide the project's scope into more than one contract, on the basis of nature of work.

District & Session's Judge Battagram